G k)

Haiigure nporieHTbI

WUms:
79 x % = 39.5
62 x % =6.2
96 x % = 48

74 % % = 66.6
71 x % =14.2
5 % % = 4

47 x % = 37.6
27 x % = 21.6
2 % % =1

74 x % = 29.6

79 x

73 %

47 x

66 X

34 x

42

[ara:

% ="T1.1

% = 36.5

% = 32.9

% = 46.2

% = 30.6

% = 16.8

% = 0.8

% =3
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% =14.7

% = 35

Orenka:



https://www.snowmath.com

CR R R

Haiigure nponieHThI

Nwms:

79 x 50% = 39.5

62 x 10% = 6.2

96 %< 50% = 48

74 x 90% = 66.6

71 x20% = 14.2

5x80% =4

47 x 80% = 37.6

27 x80% = 21.6

2x50%=1

74 x 40% = 29.6

79 x90% = 71.1

73 x 50% = 36.5

47 x70% = 32.9

66 x 70% = 46.2

34 x90% = 30.6

42 x 40% = 16.8

8% 10% = 0.8

6 x50% =3

49 x 30% = 14.7

50 x 70% = 35
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[ara:

Orenka:
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